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W=, B\AE

EROME 4 -1

(1) F(x)>0 ok &, f(x) 383 5.
f(x)<0 ok E, f(x) IZRPT 5.
(2) Wi# y=rf(x) Loxi (¢, f(1)) IZBT2EMOTFERIL,
y—f(t)=f'(t)(x—1).
- KA NFTv Yy

(1) fx)=x*+2x+1 DL &, y=[(x) Lo (1, (1) B 2EMRO TR E KD L.
(2) B y=x2+2x+4 EoR (¢, 24+2t+4) ZBF2ERE | L35,

(i) I oFfEXzERD K.

(i) FERHPOBM v=x242x+4 5T 5RO HTERZ KD X,

<KL FzvIBE>
(1) kozhfERE, v—r(D=r(D(x—-1) TH5%.
fx)=x3+2x+1, f(x)=3x*+2 &9V,
f()=1*+2-141=4, f'(1)=3-1*42=5
Thodhb,
y—4=5(x—1).
y=5x—1.
(2X1) ¢ oFFEAIL,
y—=(*+2t+4) =2t +2)(x — t).
y=02t+2)x—t*+4.
(i) I AHEzWDEE,
0= —t*+4.
t=+£2.
LoT, koaiERi,
y=6x, y=—2x.



M f(x)=x—3x*—3x—1 2’H 5.
(1) f(x) Offix 525 x OfizkD L. F72, WAMEEBMEOHZ KD &.
(2) FEE»HME v=Ff(x) 25T 58RO E KD X,
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EROME 4.2

(1) HERX f(x)=a OERFIE
v=f(x) DFS57& y=a 7S5 7O*LFHED x WIEL—FHT5.

KA PbFTzvIA1
3 WHAEX
x*=3x—a=0

NVERLDLIODFERHZ S OL) RE a DLV ) BEOHPHZ KD L.

<KL bFzvI1BE>
x3—3x=a XV, f(x)=x%-3x £BLL, yv=rF(x)

DT F73AMDEIITRD. /\
IoT,yv=f(x) Drs57& y=a D571, K /
% a OEOFPHI -1o
—2<a<?. g}
(2) Jarar=—Lamrii e (n=1, 2,3, 0 O

ff(x)dsz(x)+C DL X,
B B
[rae=|Fo| = F()- Fla).
p A PMFI VT2

Flx) BROL I ERSNT VD E X, ff(x)dx DliE R X

— 1 1
Flx)— x+ (x<1)

—x24+3x—2 (1=x).
\

<KALPFTvYT 2>
fzf(x)dx—fl(—x+1)dx+f2(—x2+3x—2)dx
0 - 0 1

. 1[_;3§2_ ?
—{ 2x+x]0+ 3x+2x 29«71

1.1
=27%
_2

Z,




4-2

(1)
(2)

ROBNZEZ .
SWHBRK 2°—3x+1=0 3R %2 320EHKEE DI L 2R,
x°=3x+1=0 OWMTRADLD%E o, ®RRO D% B LT5H. ZOLE, KD
TR O % KD K.

B8
[l =1,
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EROME

(1) 220 f(x), g(x) XM a=x<b 12BVT flx)=2g(x) DE X, y=f(x),
yv=g(x) DFS 7L 2 x=a, x=>b THENLHELSOERK S X

S=[ 7= g(x))ax.
(2) ERBITOWT, ROKXDEY 2D,

[ a-pa=-Lt-ar

e 7ﬁ'f>|‘9"l/7

() B y=2x% x @i, B x=3 CHEINLISOmBEERD L.
(2) B y=x*—5x—3 &% C £¥ 5.

(i) C & x MDD x HFEZRD K.

(i) C & x WICHFENAIMIOWERZ KD L.

i) C & y=—x2 THINHFTOHBEEZRD L.

<KL MFzv7BE>
(1) RO BHTMHRHIE

(2Xi) x%2—bHx—3=0 &1,
_ 54437

)

(i) 5_2/37:a, 5+F =B EF2E, @ B ISR P—5x—3=0 O 2RTHIH5
x2—5x—3=(x—a)(x—RB).
X oT, KdLHMmEIEL,

—Le(x2—5x—3)dx=—ﬁﬁ(x—a)(x—ﬁ)dxzé(ﬁ—a)s
:;<5+~/§_5—\/§>3

6 2 2

1 3_ 37437

Ly = 3

(i) x2—bx—3=—x%2 %D,

2x2—5x—3=0. (Qx+1)(x—3)=0. x=— 3.

1
2’
2x2—5x—3= 2<x+ )(x 3) THAHND, KdDHMEREIZ

f{ x2—(x?—5x— 3)}dx——2f< 2>(x 3)dx

il (=) =5 ) =5



4-3
2 A0, 1), B(3, 4) &i#t Ciy=x"+3x+4 &2 5.

(1) M P2 C Ez#EE&, 34 A, B, P 2THMET L =AROELAH  HiH
Cy, DFHRENE KD L.

(2) C, & (1) o C, THINIZERG Ok Z KD &£,
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